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Al Xrsal &1 UsgdI= | 3 aTd HH & TR ford |

1. GAGERS
2. GADFLY
3. GABLED
4. GAINER
5. GALAHS

Options :

1. % 31245
2.9 32145
3. % 31254



4. % 32154

Question Number : 1 Question Id : 7532292431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. GAGERS
2. GADFLY
3. GABLED
4. GAINER
5. GALAHS

Options :

1. % 31245
2.9 32145
3. % 31254
4. % 32154

Question Number : 2 Question Id : 7532292432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

GDV, ?, CLJ, APD, YTX
Options :

1. # EIP

2. ¥ EHP

3. % FHP

4. % EHO

Question Number : 2 Question Id : 7532292432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3ehH fea T 3, ford ¥ U Ug qu 5| fau U faseul & © 95 Ue! f[ddhed g, il 3hd &l g1 &



GDV, ?, CLJ, APD, YTX
Options :

1. # EIP

2. ¥ EHP

3. % FHP

4. ¥ EHO

Question Number : 3 Question Id : 7532292433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. ¥ Ladyfinger

2. % Mango

3. % Pomegranate

4. % Orange

Question Number : 3 Question Id : 7532292433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad vy # i 77T fowedl & 9 fawH Trsg &1 9T
Options :

1. ¢ fHet

2. % 3{H

3. % 3R

4. % IR

Question Number : 4 Question Id : 7532292434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.



DF:FE:: PT:?
Options :
1. % RU
2. % QS
3.% QU
4. ¥ RS

Question Number : 4 Question Id : 7532292434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRafeRad vy @ fau e famedl O @ Tefid sierl & gl

DF :FE :: PT :?
Options :
1. # RU
2. % QS
3.% QU
4, ¥ RS

Question Number : 5 Question Id : 7532292435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related word pair from the given alternatives.

Race : Track :: ?
Options :

1. ¥ Tennis : Court

2. ®% Ground : Hockey
3. ¥ Boxing : Rink

4. ¥ Pitch : Cricket

Question Number : 5 Question Id : 7532292435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ ¢ P

2. % T : it
3. WW:W
4. % U9 : fhoe

Question Number : 6 Question Id : 7532292436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘QUENAS’ is written as ‘PDKHRT’. What is the code for ‘RADIUM?’ in that code language?
Options :

1. ¥ JXFGWU

2. % JXEGXU

3. % JWFGXU

4. ¥ JXFGXU

Question Number : 6 Question Id : 7532292436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRIy &I W & ‘QUENAS’ &1 ‘PDKHRT’ foraT ST 81 39 IS HINT H ‘RADIUM’ 1 HIg T 82
Options :

1. # JXFGWU

2. % JXEGXU

3. ¥ JWFGXU

4. ¥ JXFGXU

Question Number : 7 Question Id : 7532292437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

If ‘P x Q’ means P is the son of Q’, ‘P = Q’ means ‘P is the brother of Q’, ‘P < Q’ means ‘P is the mother of Q’ and ‘P > Q’ means P is the
daughter of Q’, then in the given expression D = C > F > G, how is D related to F?

Options :

1. * Husband
2. # Father
3. % Son

4. # Uncle

Question Number : 7 Question Id : 7532292437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g PxQ BT P,QBITIR, P=Q BT P, QBIHE ", P<Q BT P, QBIAMIE TUTP>Q FBT 3R P QBTN T, A
UM ET®H D=C>F>GHD, F I vl UHR Faferd g7

Options :

1. % gfd

2. % U

3.7

4. % [l

Question Number : 8 Question Id : 7532292438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven girls G1, G2, G3, G4, G5, G6 and G7 sit around a circular table facing towards the centre (not necessarily in the same order). Two girls sit
between G1 and G3. G1 sits third to the right of G5. G7 sits second to the left of G2. One girl sits between G3 and G6.

Which of the following statement is correct?

I. Two girls sit between G5 and G7.
II. G3 sits to the immediate left of G4.

Options :
1. * Only I



2. % Only II
3. ®* BothIand II
4. « Neither [ nor 11

Question Number : 8 Question Id : 7532292438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. G5 U1 G7 & s A &) Fsfepdl 91 ]
II. G3, G4 & q¥d oY 3R dat ]
Options :

1. % FHadl

2. % Had Il

3. % [ UGl

4. TRIIATRII

Question Number : 9 Question Id : 7532292439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of seven members is to be selected among five boys B1, B2, B3, B4 and B5 and five girls G1, G2, G3, G4 and G5. B4 and G3 have to be
selected together. B2 and B3 have to be selected together. G1 and G4 cannot be selected together. G2 and B4 have to be selected together. G5 and
B3 have to be selected together. B1 cannot be selected with G1 or G5.

Which of the following members can be selected?
Options :

1. ¥ G1, G2, G3, G5, B2, B3, B4

2. ® G1,G2, G5, B2, B3, B4, B5

3. ¥ G2,G3, G4, G5, B3, B4, B5



4. % G2, G3, G4, G5, B2, B4, B5

Question Number : 9 Question Id : 7532292439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ GI1, G2, G3, G5, B2, B3, B4

2. % GI1, G2, G5,B2, B3, B4, B5

3. % G2,G3,G4,G5,B3,B4,B5

4. % G2,G3, G4, G5, B2, B4, B5

Question Number : 10 Question Id : 7532292440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All A are C.
II. No Ais Q.

Conclusions:
I. Some Q are not C.
II. Some C are not Q.

Options :
1. ¥ Only conclusion I follows
2. % Only conclusion II follows

3. % Both conclusion I and II follows



4. % Neither conclusion follows

Question Number : 10 Question Id : 7532292440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 11 Question Id : 7532292441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some A are D.
II. Some D are B.
III. No B is C.

Conclusions:
I. Some A are B.



II. Some D are not C.
III. Some C are not D.

Options :

1. % Only conclusion I follows
2. % Only conclusion II follows
3. % Only conclusion III follows

4. % Both conclusion II and III follows

Question Number : 11 Question Id : 7532292441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had [T5HY [ 3ITRV Hal &

2. ¥ I DY 11 SRV BT §

3. % $Had fIsHY 111 3FIER0T el &

4. % G fSBY 11 TT 111 S8R0 H_d &

Question Number : 12 Question Id : 7532292442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the number which can be placed at the sign of question mark (?) from the given alternatives.



b

66
63
36 | 2 ?

1
22

Lad

Options :
1. ¥ 74
2. %75
3. % 78
4. % 72

Question Number : 12 Question Id : 7532292442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad oy o fau e faw et & O vy frg (2) o RIM IR 3 aTell W= &1 gl

16

22

36

66
68

l."

|

|

Options :
1. 74
2. %75
3. % 78
4. % 72

Question Number : 13 Question Id : 7532292443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “~> means ‘+’, “+’ means ‘x’, ‘+’ means ‘-’ and ‘x’ means ‘+’, then which of the following equation is not correct?

Options :
1. % 60-12+25x16+8=133



2. % 60+ 16—-24+48 x 96 =288
3. % 120 x 36 +25-15+45=281
4. ¥ 80+16x84+4-12=82

Question Number : 13 Question Id : 7532292443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e = BT o+, + BT 3 o, > BT 3Rf > YT < B o+ BN, M A 7 I B w1 wHieR w6l e 8
Options :

1. % 60-12+25%x16+8=133

2. % 60+ 16—-24+48 x 96 =88

3. % 120 x 36 +25-15+45=281

4. ¥ 80+ 16x84+4-12=82

Question Number : 14 Question Id : 7532292444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many scooters are neither car nor jeep?

Scooter

19( /\ I“J')I?,—Cz\u*
8

YRV
6 Jeep
Options :
1.¥ 21
2. % 3]

3. %6



4. % 15

Question Number : 14 Question Id : 7532292444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fra R TR FR AT Shu g2

Options :
1. ¥ 21
2. % 31
3.% 6
4. % 15

Question Number : 15 Question Id : 7532292445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

I. The number of factory which are not school is 73.
II. The number of school which are office is 30.



Factory

P
)
30 —— Office

59 3771 28

49

School

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 15 Question Id : 7532292445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. Had I

2. % Had I

3. % [ UGl
4. % GBI

Question Number : 16 Question Id : 7532292446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A boy walks 5 km towards south. He turns towards east and walks 15 km. He turns to the left and walks 2 km. He turns towards west and walks 7
km. Finally, he turns to the left and walks 3 km. How far is he now from the starting point?

Options :

1. ®¥ 6 km
2. % 8km
3.9 10 km
4. % 14km

Question Number : 16 Question Id : 7532292446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ¢ fbol

2. % g fon .

3.+ 10 foo 4.

4. % 14 fo

Question Number : 17 Question Id : 7532292447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man starts walking towards the east and walks 15 metre. He turns to the right and walks 10 metre. He turns towards north and walks 20 metre.
He turns to the left and walks 25 metre. He turns towards east and walks 13 metre. Finally, he turns to the right and walks 6 metre. How far and
in which direction is he now from the starting point?

Options :

1. ¥ 5 metres North-East
2. ¥ 10 metres North-East
3. # 5 metres South-West
4. ¥ 10 metres South-West

Question Number : 17 Question Id : 7532292447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 5 HleR IWR-qd

2. % 10 Hiex IWR-d

3. % 5 HICR af&ur-ufdy
4. % 10 Hicx Gléor-uigy

Question Number : 18 Question Id : 7532292448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

-
1 O T

P op |lzorl|___|las

Options :

1. ¢

1
LS
O

W T
I o

Question Number : 18 Question Id : 7532292448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



1. ¢
P
) % =30
PO
3. % L=
P
L% lo=3

Question Number : 19 Question Id : 7532292449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three positions of a dice are given below. If ‘6’ is on the bottom face, then what can come on the top face?

S (S
RERUZENg

Question Number : 19 Question Id : 7532292449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
I U U @1 T AR SRR T § 1 afe I arell Bad W <6’ 7, A W dTell Bad IR T 3 obdl 52

Options :
1. %1
2. %2
3. %3
4.9 4

Question Number : 20 Question Id : 7532292450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
By folding the given paper, which of the following cube can be made?

516
411
2 13
I I I11 Y
Options :
1. % I II, Il and IV
2. % Jand III

3. % LIland IV
4.4 1,11 and 111



Question Number : 20 Question Id : 7532292450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feU T ST Bl Aiga R, Ryfeifad & ¥ o9 91 97 99131 S JohdT 82

516
411
2 3
I 1 I11 A%
Options :
1. # LI [T ddT IV
2. % 1dYUT I
3.8 LIIdUTIvV
4.4 1, 11dYT 111
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Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
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General Awareness
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229161
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532292451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Makaravilakku” festival is celebrated in which state of India?
Options :

1. * Tamil Nadu

2. ¥ Kerala

3. * Andhra Pradesh

4. % Karnataka

Question Number : 21 Question Id : 7532292451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“J-chiiaﬂldg)” d‘IRIE;IQ YR & b Iog H HAT ST %‘?
Options :

1. % diEeHrg




2. ¢ I
3. % 3Y U=
4. ® HAlCH

Question Number : 22 Question Id : 7532292452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of monument — state is NOT correct?

I. Se’ Cathedral — Goa
II. Sikandra Fort — Rajasthan

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 22 Question Id : 7532292452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR — g BT AEad & I o9 91 g 9el 781 82
1. Y HASA - Ml

11. e &1 fohar — o=
Options :

1. % Had 1
2. ¢ HAd I
3. % [ UGl
4. % qEIIATR I

Question Number : 23 Question Id : 7532292453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding socialist society?

I. The government decides how the goods are produced
II. The government decides how the goods are distributed

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 23 Question Id : 7532292453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. ® A A

Question Number : 24 Question Id : 7532292454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is correct regarding monopolistic competition?

I. There are large number of firms.
II. Good produced by the firms are not homogenous.

Options :
1. % Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 24 Question Id : 7532292454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had ]

2. % HAd I

3. ¢ 1YL ST

4. % AAATA

Question Number : 25 Question Id : 7532292455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correct for the speed of sound?
Options :

1. # Speed = wavelength / frequency

2. # Speed = frequency / wavelength

3. ¥ Speed = wavelength x frequency

4. # Speed x frequency = wavelength

Question Number : 25 Question Id : 7532292455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e b1 o ob fore e & & i el 8

Options :



1. % o =q1qe / Mg
2. % T = 3Mgfy/ et
3. ¢ T = RAGH * g
4. % U x MG = L

Question Number : 26 Question Id : 7532292456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a fish?
Options :

1. # Mandarian fish

2. # Lion fish

3. ¥ Jelly fish

4. % Dog fish

Question Number : 26 Question Id : 7532292456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofaRad o 9 oH T Asdl T8 87
Options :

1. % T3

2. % A9 b=

3. ¢ STAIThRT

4. % T bl

Question Number : 27 Question Id : 7532292457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. 5-8 percent solution of acetic acid in water is called vinegar.
II. Ethane has 6 covalent bonds.



Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 27 Question Id : 7532292457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 By I8 82

1. Wifes ond & 5-8 Ufawrd faerad &t RRe%1 Hg1 Jar g |
IL T H 6 Gg9aIoie 54 8ld 82

Options :

1.¥ Hadl

2. % HAd Il

3. % [ QYT ISl

4. % AT I

Question Number : 28 Question Id : 7532292458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mount Dhaulagiri lies in

Options :

1. ¥ Nepal

2. # India

3. % Bhutan

4, % Pakistan

Question Number : 28 Question Id : 7532292458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IR gda ERRIE]
Options :

1. ¢ U

2. % YRd

3. % HcCH

4. % Ui

Question Number : 29 Question Id : 7532292459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to 2011 census, which of the following state of India has lowest population density?
Options :

1. % Sikkim

2. ¥ Arunachal Pradesh

3. # Nagaland

4, % Mizoram

Question Number : 29 Question Id : 7532292459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2011 SFIUMAT & SR, YR & FEfafed & 9 frg I &1 S9e 99d 9 HH g2
Options :

1. % ffewy

2. ¢ BT TR

3. % 9GS

4. % fORIRY

Question Number : 30 Question Id : 7532292460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?



I. Bhimtal is a natural lake.
II. Gobind Sagar is a not a natural lake.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 30 Question Id : 7532292460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefed & ¥ o9 91 By I8 82

1. YiHaTe Te Uidhfas Sa gl
1. Mg YR T UIpfaew 3id T8l g |

Options :

1. % Had 1
2. % HAd Il
3. [ QYT ISl
4. % qEIIATE I

Question Number : 31 Question Id : 7532292461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the Child Marriage Restraint Act was passed?
Options :

1. % 1932

2.9 1929

3. % 1927

4. % 1925

Question Number : 31 Question Id : 7532292461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg o a1 faarg vy sifdfaw uifa fasar mar ar
Options :

1. % 1932

2. % 1929

3. % 1927

4. % 1925

Question Number : 32 Question Id : 7532292462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the Indian National Congress passed the Purna Swaraj resolution?
Options :

1. % 1927

2. % 1928

3.9 1929

4. % 1932

Question Number : 32 Question Id : 7532292462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ford 9 YR ST BT A Yol WIS BT URefTa T fobam
Options :

1. % 1927

2. % 1928

3.9 1929

4. % 1932

Question Number : 33 Question Id : 7532292463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following statement is correct?

I. In 1764, the Spinning Jenny was invented by John Kaye.
II. The first cotton mill in India was set up in Bombay.

Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Only I

2. Only II

3. Both I and 1T

4. Neither I nor II

Question Number : 33 Question Id : 7532292463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad & @ & 91 YT 9g 22

I. 1764 T 91 & = faf71 S &1 siifase fara |
1L YRd H Ugall gt wusT fid s o =1 gs ot

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. had [

2. had 11

3. 1 QAT I G

4. GG

Question Number : 34 Question Id : 7532292464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



As on 15 July 2021, who is present deputy chairman of Rajya Sabha?
Options :

1. ¥ M.Venkaih Naidu

2. % Harivansh Narayan Singh

3. ¥ Anand Sharma

4. % Mallikarjun Kharge

Question Number : 34 Question Id : 7532292464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 O[S 2021 & ST 9, o9 THT & G SUTHTURI B 82
Options :

1. % TH.dHIT g

2. ¢ gikdwr AR g

3. % 3fIg q@

4. ® AfcAB TS

Question Number : 35 Question Id : 7532292465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which company has launched a new app “Shopsy” for online business in July 20217
Options :

1. % Amazon

2. % Facebook

3. % Flipkart

4. # Grofers

Question Number : 35 Question Id : 7532292465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
forg Ot 3 ST 2021 H, AR HRITR & 1T T 741 U 7ot di=l fopan g2

Options :



1. % TSI
2. % BhUgd
3. ¢ foqu®Te
4. % Py

Question Number : 36 Question Id : 7532292466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In February 2021, which of the following state has launched a campaign to make state “Begar — Free™?
Options :

1. # Bihar

2. ¥ Rajasthan

3. # Uttar Pradesh

4. ® Maharashtra

Question Number : 36 Question Id : 7532292466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRaRT 2021 B, Fafafed & 9 forg o9 7 I &1 <RRaRt gaa a9 & o s Tamn g2
Options :

1. ® fogR

2. ¥ RIS

3. % JW YU

4. % HeRTY

Question Number : 37 Question Id : 7532292467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are Fundamental Rights in constitution of India.
Options :

1. %5



2.¥6
3.% 11
4. % 8

Question Number : 37 Question Id : 7532292467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRd & Ty & e SHfeR B
Options :

1. %5

2.¥ 6

3.% 11

4, % 8

Question Number : 38 Question Id : 7532292468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which country’s constitution the concept of ‘Judicial Review’ in Indian constitution has been taken?
Options :

1. * Russia

2. % (Canada

3. ¢ United states of America

4. * South Africa

Question Number : 38 Question Id : 7532292468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Hfae™ ¥ 1 THiem ST SaeRon g G¥1 & Jfdem 9 o 75 82
Options :

1. # Y

2. % hAls]



3. ¥ UG Y SARDT
4. % G&UT 3TTBIchT

Question Number : 39 Question Id : 7532292469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many players are there in each team of Rugby?
Options :

1. % 11

2.%9

3.% 10

4.+ 15

Question Number : 39 Question Id : 7532292469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Bt gd® ¢ | foha feargt gld &2
Options :

1. % 11

2.%9

3.% 10

4. 15

Question Number : 40 Question Id : 7532292470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country will host the Asian Games in 2026?
Options :

1. # India

2. % Indonesia

3. % Japan

4. # China



Question Number : 40 Question Id : 7532292470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2026 H TRTATS WAl BT AT DI AT G/ HIT?
Options :
1. # HRd
2. % SSHRME
3. ¢ U
4. % 94
Arithmetic Ability
Group Number : 3
Group Id : 753229135
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Arithmetic Ability
Section Id : 753229135
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229162
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532292471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If N=(\8+2)/(V8 —2). then what is the value of 1/N?

Options :

[ @ 3-2V2
) % 2—2%2
3 % 4+ 22
4% 4-2\2

Question Number : 41 Question Id : 7532292471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe N= (8 +2)(V8 —2) B, dl 1/N BT A F1 82

Options :
) TN 1
2— 22



3 % 4+ 22

4% 4-2\2

Question Number : 42 Question Id : 7532292472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the unit digit of 724 x 4767
Options :

1.¥ 4

2.% 2

3.% 6

4. % 8

Question Number : 42 Question Id : 7532292472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
724 x 476 BT DTS 3dH T 57

Options :

1.¥ 4

2. %2

3.% 6

4, % 8

Question Number : 43 Question Id : 7532292473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many positive factors of 112 are there?
Options :

1.+ 10



2. % 12
3.% 14
4. % 16

Question Number : 43 Question Id : 7532292473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
112 P YTHS UGS fohar 82
Options :

1.4 10

2. % 12

3.% 14

4. % 16

Question Number : 44 Question Id : 7532292474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the value of

(67Y ’67]‘1 (57 N
EEEST I (. * 1 A g [
[63J [63 L 63
Options :

3021

| % 4629

3969

5 o 4489

3829

s % 4562



3251
4295

Question Number : 44 Question Id : 7532292474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=
T i

&

I 67 "'\.2 ra 6? ]_1 I 67

S (. * 1 I 7. [

[63J [63 L 63
P HH 122

Options :
3921

| % 4629

3969
5 o 4489

3829

. 4562

3251

4 % 4295

Question Number : 45 Question Id : 7532292475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For what value of X, 176X will be a perfect square?



Options :
1. % 1
2.9 4
3.% 6
4. %9

Question Number : 45 Question Id : 7532292475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X & ford AM & foIT 176X TP QU a7 g2
Options :

1. =1

2.¥4

3.% 6

4.%9

Question Number : 46 Question Id : 7532292476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of a cycle is Rs. 8800. If 25 percent discount is given, then what will be the selling price of the cycle?
Options :

1. # Rs. 7000

2. % Rs. 7500

3. % Rs. 5500

4. ¥ Rs. 6600

Question Number : 46 Question Id : 7532292476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Arsford &1 Sifdhd Ted 8800 ¥ § 1 Afe 25 UfA=Id & e < T 7, o Arsfhd &1 fasha Jed 1 82
Options :

1. % 7000 ST




2. % 7500 Y
3. % 5500 Y
4. 6600 ST

Question Number : 47 Question Id : 7532292477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 25 is subtracted from a number, then number becomes 95 percent of itself. What is the number?
Options :

1. % 450

2.9 500

3. % 550

4, % 555

Question Number : 47 Question Id : 7532292477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Th BT T T 25 Bl YT STd] 5, ) AT W BT 95 UA=Id 81 STt g | T 17 52
Options :

1. # 450

2. ¥ 500

3. % 550

4. % 555

Question Number : 48 Question Id : 7532292478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a number Al is 50 percent less than another number A2 and A2 is 50 percent more than 1500, then what is the value of A1?
Options :

1. % 1450

2.9 1125



3. % 1225
4. % 1500

Question Number : 48 Question Id : 7532292478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T =T A1, G TAT A2 ¥ 50 TFI=Td & & TUT A2, 1500 F 50 U= M B, Al A1 BT AH T 62
Options :

1. % 1450

2.9 1125

3. % 1225

4. % 1500

Question Number : 49 Question Id : 7532292479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cost price of an article is Rs. 480. If the profit is 30 percent, then what is the value of profit?
Options :

1. # Rs. 150

2. % Rs. 136

3. ¥ Rs. 144

4. % Rs. 156

Question Number : 49 Question Id : 7532292479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I BT T T4 480 TU T | T ATH 30 YT B, T T1H T 714 1 52
Options :

1. % 150 300
2. % 13630
3. 144 30Y



4. % 156300

Question Number : 50 Question Id : 7532292480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marks of two candidates A and B are the in ratio of 3 : 8. If the marks of A are 135, then what will be the marks of B?
Options :

1. #* 260

2. % 380

3.9 360

4. % 400

Question Number : 50 Question Id : 7532292480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& nTAfIf A T B FH 3P 3: 8 P SUT A 81 TG A & 3 1358, AT B P 3 FATGHI?
Options :

1. % 260

2. % 380

3. ¥ 360

4. * 400

Question Number : 51 Question Id : 7532292481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B enter into a partnership such that 5 times of A’s investment is equal to 6 times of B’s investment. If the total profit is Rs. 11000, then
what is the share of A?

Options :

1. * Rs. 9000
2. % Rs. 6000
3. % Rs. 5000
4. * Rs. 4000



Question Number : 51 Question Id : 7532292481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%%ﬂBQ?Wﬁ@WW@ﬁ%%A%WWSTﬂ,Baiﬁa‘ﬂa'%ﬂ:ﬂ%W%I?T%WETHllooom%,ﬁAW
g2

Options :

1. % 9000 TYY

2. ¢ 6000 TYY

3. % 5000 39U

4. % 4000 3T

Question Number : 52 Question Id : 7532292482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between the simple interest on a certain sum at the annual rate of 13 percent for 10 years and 11 years is Rs. 52. What is the sum?
Options :

1. ¥ Rs. 400

2. % Rs. 410

3. ¥ Rs. 450

4. % Rs. 500

Question Number : 52 Question Id : 7532292482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

u A IR WR 13 vfa=rd &t arffies g 10 I qUT 11 T9 & JIURUT TS & Hed 3R 52 T 7 | AT 182
Options :

1. ¢ 400 39T

2. % 410909

3. % 450 309

4. % 500 >0Y



Question Number : 53 Question Id : 7532292483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Balram covers 2/5 part of the total distance by bus and the remaining 60 km by car. What is the total distance of his journey?
Options :

1. # 75 km

2. % 100 km

3. % 125 km

4. % 150 km

Question Number : 53 Question Id : 7532292483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FORH $d G BT 2/5 HIT I GRT IUT AW 60 b . R GRT T HRAT ¢ | STD! AN BT Hdl g3l a1 82
Options :

1. % 75 fop 4.
2.+ 100 o 4.
3. % 12sfe AL
4. % 150 fop 1.

Question Number : 54 Question Id : 7532292484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Speed of a train is 10 percent more than the speed of a car. Both start from point C at the same time and reach point D at the same time. C and D
are 220 km apart from each other. On the way train stops for 40 minutes at a station. What is the speed of the train?

Options :

1. % 33 km/hr
2. % 36 km/hr
3. #® 39 km/hr
4. % 30 km/hr



Question Number : 54 Question Id : 7532292484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH YS! B 1M, Th BR P 1 I 10 TR 31feres g1 g1 foig ¢ o T g1 THg IR URY Bidl § a1 fig D IR Ud g 9 W Ugddi g |
C YT D U gOR ¥ 220 fr 7. 1 g IR | IR H Yermet 40 fFe & o Uer RH R bl 81 YeTe! St i 1 82

Options :

1. ¢ 33 fob H1 /der

2. % 36 fop Y /der

3. % 39 fop WY /der

4. % 30 fo Ht /der

Question Number : 55 Question Id : 7532292485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 men can do a work in 16 days while 6 boys can do the same work in 120 days. In how many days 12 boys and 8 men together will complete
the same work?

Options :

1. # 40 days
2. ¥ 30 days
3. # 60 days
4. % 45 days

Question Number : 55 Question Id : 7532292485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 &Y Th B B 16 foT T I Ahd € ol 6 AP 391 B Bl 120 AT TR GHhd &1 12 TSH U7 8 TN A1 e I wrf &t
fora faT O QRT3

Options :

1. % 40f&T

2. ¢ 30 feA

3. % 60 faq

4. % 4529




Question Number : 56 Question Id : 7532292486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sum of the areas of four identical circles is equal to the total surface area of a sphere. If radius of circle is 10 cm, then what is the radius of the
sphere?

Options :

1. #* Scm
2. % 40 cm
3. % 20 cm
4.9 10 cm

Question Number : 56 Question Id : 7532292486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR FH Gl b QWA bl AN Ueb TTiet b el &=thel b JHI ¢ | Ffe g b1 3T 10 AL, B, ol et b1 B o &2
Options :

1. % 54,

2. % 40 AN,

3. % 20 A

4.4 1094

Question Number : 57 Question Id : 7532292487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. If area of a circle is 61600 cm?, the diameter of this circle is 140 cm.

II. If area of an equilateral triangle is S o , then side of this triangle is 40 cm.

Options :
1. ® Only I
2.% Only II



3. ® BothIand II
4. % Neither [ nor 11

Question Number : 57 Question Id : 7532292487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofifed # § o 1 By 98 82
. 91¢ TP I BT &% 61600 .12 §, 1 39 g1 &1 9 140 .11, B
11. 9 U THaTg Ay &7 &% 400y/3 WA g, 1 39 Fryei & Yo 40 .41 B

Options :

1. % PHadl

2. ¥ Had Il

3. % [qUT el
4. % 1B

Question Number : 58 Question Id : 7532292488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of students passed in examination in five different schools for three different years.

Years
Gt =g Y2 Y3
S1 200 700 | 600
S2 300 800 | 900
33 400 320 | 200
S4 550 200 | 650
S5 600 500 | 720

J1 = The average number of passed student in school S1 in all three years
J2 = The difference between the total number of passed student in all years together in school S2 and S3
What is the value of (J2 —J1)?



Options :
1. * 500
2.9 580
3. % 620
4. % 550

Question Number : 58 Question Id : 7532292488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 & 7S aifereet i faft o & forg ot fafte wea & udien & S<ivf gu oHl @ Tom ot c=id 1

2 Lol i
X1 Y2 Y3
S1 200 700 600
52 300 300 900
S3 400 320 200
S4 550 400 650
S5 600 500 720

71 = oft i ouf & et s1 7 Sl S &t o e

12 = THd S2 74T $3 H gt I & fares 30l S &) $d TS & d1d BT 3R
(12— J1) BT HH 1 82

Options :

1. % 500

2. ¢ 580

3. % 620

4. % 550

Question Number : 59 Question Id : 7532292489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the expenditure and savings of six companies.



650
600 L
. /
500 500 7\ /
. | hY /450
N /X \ )
: A Y f 7
300 N300 470\ Ao f
S 0N \esyg
T \so
200 'x 50/
T T I T T 1
P Q R S T U
—o—Expenditure —# Saving

Income = Expenditure + Saving
What is the sum of income of company P and Q?

Options :
1. % 1200
2. % 1300
3. % 1100
4. % 1400

Question Number : 59 Question Id : 7532292489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. # 1200

2.9 1300

3. % 1100

4. % 1400

Question Number : 60 Question Id : 7532292490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the percentage of marks obtained by a student in six subjects.



S0

S1 S2 S3 S4 S5 S6

Which of the following statement is correct?
I. If the maximum marks of subject S4 is 200, then the marks obtained by the student in subject S4 is 140.

I1. If the maximum marks of subject S2 and S3 are 100 and 150 respectively, then the average marks obtained by the student in subject S2 and S3
are 37.5.

Options :

1. % Only 1

2. % Only II

3. # BothIand II
4. ¥ Neither I nor I

Question Number : 60 Question Id : 7532292490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Group Marks : 20

Is this Group for Examiner? : No
General English

Section Id : 753229136

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229163

Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532292491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Dense mangrove forests about (1)/Florida’s southwest coast form a protective (2)/barrier that absorbs storm surge from hurricanes (3)/.No error
“4)

Options :

1.¥ 1

2. % 2

3.% 3

4. % 4

Question Number : 61 Question Id : 7532292491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Dense mangrove forests about (1)/Florida’s southwest coast form a protective (2)/barrier that absorbs storm surge from hurricanes (3)/.No error
“4)

Options :

1.¥ 1

2. % 2

3.% 3

4. % 4

Question Number : 62 Question Id : 7532292492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

You don’t have to (1)/ look hardly to see uncivil (2)/ behavior these days (3)/.No error (4)
Options :

1. %1

2.¥2

3.%3

4. % 4

Question Number : 62 Question Id : 7532292492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

You don’t have to (1)/ look hardly to see uncivil (2)/ behavior these days (3)/.No error (4)
Options :

1. % 1

2.9 2

3.%3

4. % 4



Question Number : 63 Question Id : 7532292493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Ramesh wrote slow in his exam.
Options :

1. ¥ wrote slowly

2. # write slow

3. % write slowly

4. ¥ No improvement

Question Number : 63 Question Id : 7532292493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

Ramesh wrote slow in his exam.
Options :

1. ¥ wrote slowly

2. ® write slow

3. #® write slowly

4. ¥ No improvement

Question Number : 64 Question Id : 7532292494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

There were five handsome large 20 year old boys in the football team.



Options :

1. ® five large and handsome 20 year old boys
2. # large five 20 year old handsome boys

3. # handsome 20 year old large five boys

4. ¥ No improvement

Question Number : 64 Question Id : 7532292494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select ‘No
improvement’ as your answer.

There were five handsome large 20 year old boys in the football team.

Options :

1. # five large and handsome 20 year old boys
2. # large five 20 year old handsome boys

3. % handsome 20 year old large five boys

4. ¥ No improvement

Question Number : 65 Question Id : 7532292495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She was upset because of his comments.
Options :

1. ® jovial

2. % shrewd

3. % bloomy

4. ¥ lousy

Question Number : 65 Question Id : 7532292495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

She was upset because of his comments.
Options :

1. # jovial

2. # shrewd

3. # bloomy

4. ¥ lousy

Question Number : 66 Question Id : 7532292496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The government has come with a new policy.
Options :

1. ¥ up

2. % in

3. % on

4. # upon

Question Number : 66 Question Id : 7532292496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

The government has come with a new policy.
Options :

1. ¥ up

2. % in

3. % on

4. % upon



Question Number : 67 Question Id : 7532292497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Avocados were first

P: before the Spanish conquest

Q: domesticated in tropical America,
R: where they were cultivated as

S: individual seedling trees

Options :

1. ¥ QRSP
2. % RQPS
3. #* PSRQ
4. % QSPR

Question Number : 67 Question Id : 7532292497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

Avocados were first

P: before the Spanish conquest

Q: domesticated in tropical America,
R: where they were cultivated as

S: individual seedling trees

Options :

1. ¥ QRSP
2. % RQPS
3. ¥ PSRQ
4. % QSPR



Question Number : 68 Question Id : 7532292498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: of water purification has made

Q: the city has taken measures to

R: decrease air pollution, and a system
S: tap water safe for drinking

Options :

1. ¥ SPQR
2. % QSPR
3. ¥ QRPS
4. % QRSP

Question Number : 68 Question Id : 7532292498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: of water purification has made

Q: the city has taken measures to

R: decrease air pollution, and a system
S: tap water safe for drinking

Options :

1. ¥ SPQR
2. % QSPR
3. ¥ QRPS
4. % QRSP

Question Number : 69 Question Id : 7532292499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.



Fleeting
Options :

1. ¥ Fecund

2. ¥ Ephemeral
3. % Stagnant
4. % Shipping

Question Number : 69 Question Id : 7532292499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Fleeting
Options :

1. % Fecund

2. ¥ Ephemeral
3. % Stagnant
4. # Shipping

Question Number : 70 Question Id : 7532292500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Forsake
Options :

1. # Abjure
2. ¥ Sanction
3. % Abject
4. # Observe

Question Number : 70 Question Id : 7532292500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Forsake
Options :

1. # Abjure
2. % Sanction
3. % Abject
4. # Observe

Question Number : 71 Question Id : 7532292501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Foriegn

2. % Foreign

3. ® Forin

4. % Forign

Question Number : 71 Question Id : 7532292501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. * Foriegn

2. % Foreign

3. % Forin

4. % Forign

Question Number : 72 Question Id : 7532292502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. * Que

2. % Qeu

3. ¥ Queue

4. % Kewue

Question Number : 72 Question Id : 7532292502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ® Que

2. # Qeu

3. ¥ Queue

4. ® Kewue

Question Number : 73 Question Id : 7532292503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To burn the candle at both ends

Options :

1. ¥ To exhaust oneself by working too much
2. % In the same condition

3. #* To be humiliated

4. % To sleep before midnight

Question Number : 73 Question Id : 7532292503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

To burn the candle at both ends

Options :

1. ¥ To exhaust oneself by working too much
2. # In the same condition

3. # To be humiliated

4. ® To sleep before midnight

Question Number : 74 Question Id : 7532292504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Pull the plug

Options :

1. ¥ To pamper a person

2. % To be too lenient on somebody

3. ¥ Prevent something from happening

4. ® Disciplined and controlled

Question Number : 74 Question Id : 7532292504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Pull the plug

Options :

1. # To pamper a person

2. % To be too lenient on somebody

3. ¥ Prevent something from happening

4. # Disciplined and controlled



Question Number : 75 Question Id : 7532292505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Beginning at and continuing since birth
Options :

1. * Equestrian

2. ¥ Congenital

3. % Lapidist

4. % Shunpike

Question Number : 75 Question Id : 7532292505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Beginning at and continuing since birth
Options :

1. * Equestrian

2. ¥ Congenital

3. % Lapidist

4. * Shunpike

Sub-Section Number : 2
Sub-Section Id : 753229164
Question Shuffling Allowed : Yes

Question Id : 7532292506 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Vitamin D deficiency may often go unrecognized, and many who see their doctor for aches, pains and fatigue end up being misdiagnosed as



suffering from fibromyalgia. Actually, vitamin D deficiency retards calcium incorporation into the skeletal collagen matrix, resulting in aching
bones. Chronic pain and muscle weakness may actually be very subtle, especially in the beginning. Remarkably, symptoms are being relieved
when Vitamin D is given as doctors are beginning to take notice. Vitamin D receptors are found all over the body, including the immune cells.
Consequently, vitamin D deficiency leads to lower immunity and a higher susceptibility to the flu. High blood pressure and depression are also
linked to vitamin D deficiency, and maintaining normal to optimal levels of vitamin D is becoming part of the treatment regimens for these
common medical conditions.

The skin produces 90 percent of the body's vitamin D needs, under ultraviolet-B radiation from sunlight. Hence, inadequate sunlight exposure or
insufficient absorption of UV-B rays by the skin lead to deficiency. In India, inadequate exposure to sunlight results from indoor lifestyle in urban
areas and wearing head coverings. Besides, our darker skin contains more melanin pigment, which reduces the skin's ability to make vitamin D.
In addition, air pollution contributes by reducing the amount of solar UV-B rays that reach the earth’s surface, apart from deterring people from
being outdoors. An Indian study confirmed that inhabitants of polluted areas are at a higher risk of deficiency.

Light-skinned individuals require 20 minutes of exposure to direct sunlight three to four times a week in order to enable the skin to make
adequate Vitamin D whereas those with darker skin (more melanin pigment) require 30-to-40 minute exposure three to four times a week. It is
recommended to expose 18 percent of the body, that is arms without long sleeves and face without sunscreen. The ideal exposure time is between
11:00 am and 2:00 pm.

However, in order to make vitamin D from sunlight, well-functioning liver and kidneys are essential. If the function of these organs is
compromised, as happens with ageing, additional vitamin D supplements may be needed under a doctor’s supervision.

Sub questions

Question Number : 76 Question Id : 7532292507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can be the suitable title for the given passage?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. Vitamin D and its deficiency

2. The sun is all you need

3. Perks of eating vitamin D supplements

4. UV rays good or not?

Question Number : 77 Question Id : 7532292508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the ideal exposure time to take sunlight?



Options :

1. ¥ Between 11:00 am and 2:00 pm
2. % Between 10:00am and 2:00 pm
3. # Between 11:00 am and 1:00 pm
4. % Between 11:00 pm and 2:00 am

Question Number : 78 Question Id : 7532292509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the consequence of Vitamin D deficiency?
Options :

1. ® Aching bones

2. % Lower immunity

3. ¥ Darker skin

4. ® High blood pressure

Question Number : 79 Question Id : 7532292510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why people with darker skin are not able to make Vitamin D?

Options :

1. ¥ Darker skin contains more melanin pigment, which reduces skin ability to make Vitamin D.
2. ® Darker skin contains no melanin pigment, which reduces skin ability to make Vitamin D.

3. # Darker skin is very dry, which increases the skin ability to make UV rays.

4. ® Darker skin contains no melanin pigment, which increases the skin ability to make more Vitamin D.

Question Number : 80 Question Id : 7532292511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct antonym of the word ‘encourage’ from the given passage?
Options :

1. ¥ Deter

2. % Subtle



3. % Adequate

4, % Relieve

Question Id : 7532292506 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the following information carefully and answer the given questions.

Vitamin D deficiency may often go unrecognized, and many who see their doctor for aches, pains and fatigue end up being misdiagnosed as
suffering from fibromyalgia. Actually, vitamin D deficiency retards calcium incorporation into the skeletal collagen matrix, resulting in aching
bones. Chronic pain and muscle weakness may actually be very subtle, especially in the beginning. Remarkably, symptoms are being relieved
when Vitamin D is given as doctors are beginning to take notice. Vitamin D receptors are found all over the body, including the immune cells.
Consequently, vitamin D deficiency leads to lower immunity and a higher susceptibility to the flu. High blood pressure and depression are also
linked to vitamin D deficiency, and maintaining normal to optimal levels of vitamin D is becoming part of the treatment regimens for these
common medical conditions.

The skin produces 90 percent of the body's vitamin D needs, under ultraviolet-B radiation from sunlight. Hence, inadequate sunlight exposure or
insufficient absorption of UV-B rays by the skin lead to deficiency. In India, inadequate exposure to sunlight results from indoor lifestyle in urban
areas and wearing head coverings. Besides, our darker skin contains more melanin pigment, which reduces the skin's ability to make vitamin D.
In addition, air pollution contributes by reducing the amount of solar UV-B rays that reach the earth’s surface, apart from deterring people from
being outdoors. An Indian study confirmed that inhabitants of polluted areas are at a higher risk of deficiency.

Light-skinned individuals require 20 minutes of exposure to direct sunlight three to four times a week in order to enable the skin to make
adequate Vitamin D whereas those with darker skin (more melanin pigment) require 30-to-40 minute exposure three to four times a week. It is
recommended to expose 18 percent of the body, that is arms without long sleeves and face without sunscreen. The ideal exposure time is between
11:00 am and 2:00 pm.

However, in order to make vitamin D from sunlight, well-functioning liver and kidneys are essential. If the function of these organs is
compromised, as happens with ageing, additional vitamin D supplements may be needed under a doctor’s supervision.

Sub questions

Question Number : 76 Question Id : 7532292507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can be the suitable title for the given passage?

Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :



1. Vitamin D and its deficiency

2. The sun is all you need

3. Perks of eating vitamin D supplements
4. UV rays good or not?

Question Number : 77 Question Id : 7532292508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the ideal exposure time to take sunlight?
Options :

1. ¥ Between 11:00 am and 2:00 pm

2. % Between 10:00am and 2:00 pm

3. # Between 11:00 am and 1:00 pm

4. ¥ Between 11:00 pm and 2:00 am

Question Number : 78 Question Id : 7532292509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT the consequence of Vitamin D deficiency?
Options :

1. # Aching bones

2. % Lower immunity

3. ¥ Darker skin

4. ® High blood pressure

Question Number : 79 Question Id : 7532292510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why people with darker skin are not able to make Vitamin D?

Options :

1. ¥ Darker skin contains more melanin pigment, which reduces skin ability to make Vitamin D.
2. % Darker skin contains no melanin pigment, which reduces skin ability to make Vitamin D.

3. ® Darker skin is very dry, which increases the skin ability to make UV rays.



4. # Darker skin contains no melanin pigment, which increases the skin ability to make more Vitamin D.

Question Number : 80 Question Id : 7532292511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the correct antonym of the word ‘encourage’ from the given passage?
Options :

1. ¥ Deter

2. # Subtle

3. % Adequate

4. # Relieve
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Question Number : 81 Question Id : 7532292512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Foffed & 3 SH-91 st SR ek 82
Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.
Options :

1. 3B

2. WM

3. IAR]
4. AT

Question Number : 81 Question Id : 7532292512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFroffed & 9 $1F-971 Wsg ST Weg 37
Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 3B

2. RRId

3. ORI
4. AT




Question Number : 82 Question Id : 7532292513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT 71T 2reg; 1 Uy J1d BT |

gD

Options :
1. % o
2.9 Db
3. % gD
4. % Wb

Question Number : 82 Question Id : 7532292513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faU 70 Yeg BT YUY 1 BITE|
[SECED

Options :
1. % d9
2. ¥ 3b
3. % dd
4. % WhH

Question Number : 83 Question Id : 7532292514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tu wrec) @t T fawe FIfvT|
3y

Options :



1. % 30d + ¢}
2. 3+ Y
3. % 3+
4. % 37+ ¢

Question Number : 83 Question Id : 7532292514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tu wrec) Bt T fawe FIfT|
3y

Options :

1. % 309 + ¢
2. ¢ 3+ 1Y
3. % 3{d+ 19
4. % 3+t

Question Number : 84 Question Id : 7532292515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T T a1 & IUYe e &1 T B Nad RIM B il B
qd: AT 961§ S Al BT 3G BT 5|

Options :

1. % IREAH
2. % grgui
3. ]

4. % Yergdl

Question Number : 84 Question Id : 7532292515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3T T a1 & IUYe e &1 T8 B Nad RIH P il B
qd: AT 961§ S Al BT 3G BT 5|

Options :

1. % IREAH
2. % Ul
3. ]

4. % YeIddl

Question Number : 85 Question Id : 7532292516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faT 7T Tee} H Qg It T TG BT
Options :

1. % fig

2. % firg

3. % fiy

4. fuy

Question Number : 85 Question Id : 7532292516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau 7 wreal H Y I BT TG PITT
Options :

1. % fig

2. % firg

3. % fiey

4. ¢ fhy

Question Number : 86 Question Id : 7532292517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

few 11T =reg g 1 Wel Weg I 1 Hiforw|
DTN : YR

Options :

1. % Y§dl: Helad

2. % YHg : Yl

3. % 3EPR : Th g

4. HEIGT : TRAM

Question Number : 86 Question Id : 7532292517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fere 11T <reg g 1 Wl Weq I 1 HifoTw|
DTN : YR

Options :

1. % yydl: Hgled

2. % {Hg : Yyl

3. % 3EPR : Uh Pg

4. HEIGd : AW

Question Number : 87 Question Id : 7532292518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 7T Wsg 1 T Wsg J1d HifoTT
puia)

Options :
1. ® oM
2. % Hadhd
3. ¢ aIRg



4. % FER

Question Number : 87 Question Id : 7532292518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 77U S1eg &1 UTTTETE T J1d BIFT|
Y

Options :
1. % &I
2. % Hadhd
3. ARG
4, % g

Question Number : 88 Question Id : 7532292519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST TN 9190 &1 BT F1d B

URA 15 3T 1947 D1 HTSTG 3T AT
Options :

1. % GHIHIC YdbId

2. % TG YdbTd

3. ¢ QU Ydahrd

4. % 3quf Ydprd

Question Number : 88 Question Id : 7532292519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feU U 9T &1 BT J1d DI |

YRA 15 3T 1947 DI 311G g3 AT




Options :

1. % JEGDHIC YdPbId
2. % i YdbTd

3. ¥ Ul YdaTa

4. % 30T YddbTd

Question Number : 89 Question Id : 7532292520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafed areal & ¥ WRa areg I1d Sifo |
Options :

1. % Sq HIelt 3 WY o7 ey, 99 I =an Tl
2. % TTA A Y & AU SR I8 =rawn |

3. % [Tl 3 e o fou 39foe 98 e T
4. ¢ UGt MY TG B =l |

Question Number : 89 Question Id : 7532292520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad arel # ¥ WRa 919 J1d Hifod |
Options :

1. % S Aelt A 91 & AU, 99 98 I |
2. % Tl A e & foU 8TR a8 =@ |

3. % T A e @ fou Swfere ag =@ |
4. TC QY TS S Tt T

Question Number : 90 Question Id : 7532292521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad areil & 9§ Tgad are I1d BT |

Options :




1.« IM, T & W TTs o, TP I fobara S ot
2. % W, War & R fhdre 3 T ATl

3. % W, A1 & W T 59 I frare S o

4. % 59 98 3P W TTs 1 99 I fordra 1 ot

Question Number : 90 Question Id : 7532292521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad areil & 9 Tgad are J1d BT |
Options :

1. ¢ W, Tl & IR T3 8, T I fobaa a1 |
2. % W, a1 & R fordTe 3 4T |

3. % W, i1 & R TR o I frare & ot

4. % 59 98 ITP W 1Ts t a9 I fordra S ot

Question Number : 91 Question Id : 7532292522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAgferfad ot 4 ¥ ORd a1 1 Hifo|
Options :

1. % 38 §gd STl U7 Sqerg & 18R g T

2. % I 3 rar gielt ol H S1eR g1 STl

3. % §9 &8 9gd el At a9 § a1ex 8! |
4.+ 38 9gd IG1 B & HRUI H 1eR el 14T

Question Number : 91 Question Id : 7532292522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad gl § ¥ TR 9199 J1d BT

Options :
1. % 38 9gd SuIal U7 Sqferg H a1 -1g! 7|




2. % Yfe 38 TA1a1 gIcH ol H S8R 781 Tl
3. % 99 &8 9gd el At a9 # a1ex A8l |
4. ¢ &E §gd WG 8 & HRUI H &R A1a] T4

Question Number : 92 Question Id : 7532292523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1 & Iuged form fag &1 o= pifor|
g1 it off Hy®r ) el T8 S B

Options :
1. %,
2. % o
3.9 —
4, % «»

Question Number : 92 Question Id : 7532292523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y & Iuged form fag &1 o= Fifor|
gH b 1t A Y el R g A B

Options :
1. % ;

b

2. % o
3.9 —
4‘3',3“”

Question Number : 93 Question Id : 7532292524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau ¢ a1 © Iuged form fug &1 o+ Fifor |




HigH SER 313l
Options :

1. ¥

9 % _

3.% o0

4. % -

Question Number : 93 Question Id : 7532292524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1’y © Iuged form fag &1 o+ pifor|
HIg IR 3131

Options :
1. ¥ |
0 _

3.% 0

4, % .-

Question Number : 94 Question Id : 7532292525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl § 9, 39 fawed o1 90 3 o1 iU 70 JeTar & 31 &1 Jd9§ U I oJad SRl o |
SR I

Options :

1. ® 3URleq DAl

2. % GRBRA

3. % TS HRAT

4. HIY T HOR I Il




Question Number : 94 Question Id : 7532292525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawedl & 9, 39 faded o7 9o 3 ot fT 7T gerer & 31 &1 a9y U I oJad HRal g |
TR JITAT

Options :

1. # 3Ux[eq ho-l

2. % HRAT

3. ® TS HRAT

4. ¢ HIY T IR I T

Question Number : 95 Question Id : 7532292526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 70 aR fawedl 6 9, 39 fawed &1 999 o S faU 0 GgTak & 3 &1 a98 T ¥ oad Rl 5|
RS HIg gl

Options :

1. #® YHF-R%d femmr

2. % Gt T A BT
3. % MR IR T HRAT

4. ¢ AETH g1

Question Number : 95 Question Id : 7532292526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7o IR fawed & 9, 39 faded o1 9o 3 o fT 7T gerer & 31 &1 a9y ¥U ¥ oJad HRal g |
IRE Hg g

Options :

1. % YH-RNhd feam T




2. % GIed BT HTHH BT

3. % SR R 7d A

4. ¥ AT H g1

Sub-Section Number : 2
Sub-Section Id : 753229166
Question Shuffling Allowed : Yes

Question Id : 7532292527 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS T T T | IR O STYR WR Ui Uy T 7Y € | I &1 e9Ydeh U aul Udidh Uy H aR fawedl § ¥ 9el fawed g |

AT 3R YGTaR01 39 GHI B I8 T AT 8 | T8 P 39 UIIaR0T 37 YHR dIsl SUas gidll ¢ | Ui I8 Ha sita- $! el g8 Th
Lok WW%MWW@TWﬁWH@WﬁWJ&ﬁ,WWWW%Iﬂﬂ&laﬁsﬂ Uphid & GRI SHId, UeTS,
gdd, 7 g8 9 919 SUER & TU A St 8 1 39 9t & fom g off 7w a1 =9 ofid 31U Sfia Bt e el R Uohd & | 39 UaiaRor d
3 UHR & a9 O1d Xgd g | ST SMHR, - T, I Siia- el TUT AGUH S-SR g | 97 Siial & HRUT 39 Uabial DI JHT
3R §G ST & | a7 STd aTdTaRUl o Yexdl HI §-1 3@ & o Hedqul AT fFAuTd § | AMa 3ia=i u-gfautefi & fore a+i &1 wers
B T ¢ i g § AT B! fafdy UHR Pt qreF Jufy et 8 | ST SUTN A8 304 Siid § &l & | I7% 39 a1 &I 7Y b
I Siid] T OR IS 8 | 3P PRI TRV BT e [T & 8 | eRell TR 30 YbR 1 UG HY 3 Tl & | $Hb HRU AT 4
AHR R a9 oital d! off 9gd THUH Ugd W61 ¢ | SHP RO T S(1dl & Follial 78 B a1 ¢ | AT B SHTAT 3 SR 38 & g
il D1 TREJUT FHRAT STID ¢ | AT DI I SNial Bl TR TG §, Al I8 39 UHR & YGHUT 3R STl & dhels TR Ufaae T
|

Sub questions

Question Number : 96 Question Id : 7532292528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
™ &1 SUSR & =Y | 7 fear g2
Options :

1. % 3{Uery

2. % e foreH

3. ¥ Uid

4. % Ygyu[




Question Number : 97 Question Id : 7532292529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qTATaRUT 1 Frardl -1 TG & 18 i Ageayuf Yftrent AT 82

Options :

1. ® TG
2. ¢ T NIg
3. % Sfia ]l
4. % gfdey

Question Number : 98 Question Id : 7532292530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 3O gE-FfauTaft & fore o var g2
Options :

1. % Sfial &t ST

2. % TR0 BT TRET

3. % QIR &1 Fardl

4. G DI Helg

Question Number : 99 Question Id : 7532292531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS B! a1 1 TS B I 7T YT Bl 82
Options :

1. ¢ Fie Juf

2. % TYTARU] BT TREOT

3. % 3RTACHSD Sfia

4. % Hoitq gy

Question Number : 100 Question Id : 7532292532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST TR BT IUgad MNP FT G
Options :

1. % SHTQl Bt Pels

2. % Gflq &l Ul

3. ¥ I Siid TR&UT

4. % gE-gaumy

Question Id : 7532292527 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

TS TSI T 71 | TTRIRT & TR OR Uid U faU 7 § | TRI1 &1 -gd e Ue a1 U Uy & IR fawed 8§ § ug fadwed |

AT 3R THTaR01 S GIH! 1 Wae TG QM1 ¢ | A B 39 TATaR0T 30 UHR i Suasd il & | Upicl Ig Tt Sita- &1 {Hal gs Uh
&1 | TP HRUT Y ORdl IR T35 3R Gaft woiia ¥ a1 ux]-ueft, THaR e FHam aRd 8| I3 &1 39 UPid & gRI ST, T8TS,
gad, 7 g8 Tt IS SUBR & wu B €t 81 39 Ot & far 1s oft A a1 3= Sita Sru= SfiaH &1 o1 181 R Tahd o | 39 TaiaRor §
3 YHR & a9 o1d Xgd g | ST SMHR, - T, I Siia- et IUT AGURHT S-SR § | 97 Siial & HRUT 39 Uapldl 1 JHT
3R 9 ST & | a7 STid aTdTaRYl & Yexdl HI §-1 3@ & fo Headqu! YfAeT AT § | AMa 9= gu-gfautef & fore a-i & ders
FXA TS RN a1 § AT B fAfdY THR BI A1 T A g | STbT ST A 30 St H HRll g | IS 39 a1 ! I8 b
I Sffdl BT TR IS 8 | $HP HRU GATGRU BT TJer TS T § 1 4Rl IR 30 UHR b1 3MUaTe Hi o1 ol 81 58 HRU A &
AHR R g oital &l off 95 THUH Ugd 6T ¢ | TP RO T SHdl ! Follfal 7Y g a1 & | AT B ST 3HIKied SR 38 & g
%HTT;TUTEFWR&FUT BT HTAURD § | I P I Siial Pl ST G §, Al 38 30 UHR & UGHUT 3R SHTE &1 Hels R Uidae T
|

Sub questions

Question Number : 96 Question Id : 7532292528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS &1 SUSR & =0 & 1 faan 82
Options :

1. % 3T

2. % e fommsH




3. ¥ Udpid
4. % GGy

Question Number : 97 Question Id : 7532292529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qITARUT &1 Xl SR 3@ & (oY DI Agayqul YT AT 82
Options :

1. % J-=7

2. ¢ I g

3. % Sfig et

4. % giaay

Question Number : 98 Question Id : 7532292530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS S0 gE-glamsfi & g o Rl g2

Options :

1. % Siidl & &

2. % TUIARU DT TRET
3. % gIATeRUl &1 Faxd]

4. ¥ I DI HeTg

Question Number : 99 Question Id : 7532292531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS B a1 DT Hels B o T U BIell 62
Options :

1. ¢ 1 Faft

2. % UYIARU T TRET]

3. % JRMHEHD Siia

4. % oitq gy




Question Number : 100 Question Id : 7532292532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUeRT TR T IuGeR e T BRI

Options :
1. % SRTAl Bl BeTg
2. ® Sita Bl Heul
3. ¢ G Gild ER&0T
4. % FE-gAY
Disciplinel
Group Number : 6
Group Id : 753229138
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel
Section Id : 753229138
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20



Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 753229167
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532292533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first global economic depression occurred in .
Options :

1. % 1873

2. % 1871

3. % 1870

4. % 1872

Question Number : 101 Question Id : 7532292533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Ay Snfdfep Tt Ags
Options :
1. ¥ 1873
2. % 1871
3. % 1870
4. % 1872

Question Number : 102 Question Id : 7532292534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which five year plans of India is also known as the Mahalanobis Plan?
Options :

1. #* First

2. % Second



3. # Third
4. *= Fifth

Question Number : 102 Question Id : 7532292534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA 1 HI-T} TIas{T G ol HGTANTST TSI & =11 I ST STl 892
Options :

1. ® UYH

2. ¥ I

3. % TR

4. % gieal

Question Number : 103 Question Id : 7532292535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following personalities assisted Mahatma Gandhi in the Champaran Satyagraha?

I. J.B. Kriplani
II. Babu Rajendra Prasad
III. Babu Brajkishore Prasad

Options :

1. % Only I

2. % Jand II

3. % Iland III
4, 1,11 and 11T

Question Number : 103 Question Id : 7532292535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferRad @ O fog ofad A SURY Tmig § weTe Mgt & ggrar o &

ARSI IE]]




ICIERISER I

111. ST SISIThRIR TS
Options :

1. % a1

2. % 1441

3.% I dUT I

4. [, 1 dYTIII

Question Number : 104 Question Id : 7532292536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The French revolution took place for the establishment of

I. Egalitarian Society
II. Feudalism

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand Il
4. #® Neither I nor II

Question Number : 104 Question Id : 7532292536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i Shifd &I RITIT & feg g3

ISR CICISEIE]
1. g darg
Options :

1. ¥ $Had |

2. % Had Il

3. % [ QYT ISl



4. % ATEIIATSII

Question Number : 105 Question Id : 7532292537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Marie Antoinette was stuck in which affair in 1785?
Options :

1. # Ruby Necklace

2. % Emerald Necklace

3. % Sapphire Necklace

4. ¥ Diamond Necklace

Question Number : 105 Question Id : 7532292537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1785 B I GeiHe [ 3R o o it o

Options :

4. SHE AHaY

Question Number : 106 Question Id : 7532292538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following feelings is NOT associated with the French Revolution?
Options :

1. # Sovereignty of nation

2. ¥ Marxism

3. ¥ Modern Nationalism

4. % Duties of Citizenship



Question Number : 106 Question Id : 7532292538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad wiarel & @ o1 It tha wifa & a1y T8l 9ISt 82
Options :

1. % Y D HUYT

2. ¥ ARG

3. % 3NYfIeh Ayare

4. % ARG b HYDR

Question Number : 107 Question Id : 7532292539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In context of French Revolution, which of the following statements is correct regarding the declaration of Rights of Man and Citizen?

I. It was declared on August 26, 1789.
II. It had universal principles.
III. It was written by Thomas Jefferson.

Options :

1. * OnlyI
2. % Tand II
3. % Il and III
4. % T and III

Question Number : 107 Question Id : 7532292539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ ifa & T H, T 3IR AFR® & SifISRY o1 avon & Jeof & Faferiad & § o w1 oy gt 82

1. I8 26 37T, 1789 P! UId fopaT 74T T |
1. 3% IraHIfe Rigia A1
111, T8 YT SR gRT ferar a7 o |



Options :

1. % ad [
2.9 1dYT Il
3. % 11 dUT I
4, % 1dYUT I

Question Number : 108 Question Id : 7532292540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the revolt of 1857 in India, which food item was used to convey messages about the revolt from village to village?
Options :

1. # Rice

2. # Sweets

3. % Chapati

4. # Lentils

Question Number : 108 Question Id : 7532292540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA # 1857 & fI5Ig SR, M9 7T Y1 ugam & e fod @ uerd o1 sxavma fvam mam um
Options :

1. # dldd

2. % fa1g

3. ¢ ULl

4. %

Question Number : 109 Question Id : 7532292541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct regarding the Revolt of 1857 of India?



I. One of the reason of its failure was disunity among the Indians.
II. The revolt of 1857 ended the rule of East India Company in India.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 109 Question Id : 7532292541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA & 1857 B fagig & deH & FufeiRad # @ o9 1 Hy= I8t 82

1. 39! fAeTdl &1 T HRUI YRG! & o Be At
I1. 1857 &1 pifd 4 URd H 3¢ S[STT HU BT AR 3id B fq|
Options :

1. % Had I
2. % HAd Il
3. QYT ISl
4. % qEIIATE I

Question Number : 110 Question Id : 7532292542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The decision for the attainment of complete independence was taken in which of the following session of the Indian National Congress?
Options :

1. #® 1930

2. %1920

3. %1929

4. % 1915

Question Number : 110 Question Id : 7532292542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ul T UTed A b1 fuia WRdTa g S0 & Fafead 7 3 fova siftrawm # foram mam am
Options :

1. % 1930

2. % 1920

3.9 1929

4. % 1915

Question Number : 111 Question Id : 7532292543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who brought the strife between Swarajists and no changers to an end on November 6, 1924?
Options :

1. ¥ Mahatma Gandhi

2. # Motilal Nehru

3. % S C Mitra

4. % Anil Baran Roy

Question Number : 111 Question Id : 7532292543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 TSR, 1924 ] TRISETCAT 3R 71 Ao & o1 & TUY & fpg T fhar U
Options :

1. « HETEHT Mieht

2. % Hididrd Hg&

3. % Tyl o

4. % A RAIY

Question Number : 112 Question Id : 7532292544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Who was the chairman of the Simon Commission?
Options :

1. # Sir Albert Simon

2. % Sir John Simon

3. % Sir Munroe Wilson

4. % Sir Cole Simon

Question Number : 112 Question Id : 7532292544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TISHA HHIRH & e B A2
Options :

1. % W 3fcac qrgaA

2. ¥ TSI HIgHA

3. % WORI fae

4. % I HIA ASHA

Question Number : 113 Question Id : 7532292545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was Congress Swarajist?
Options :

1. # Shaukat Ali

2. % Subhash Chandra Bose

3. % Motilal Nehru

4. ¥ Mohammad Jinnah

Question Number : 113 Question Id : 7532292545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fufifad & 9 &9 Hg WRSaKd! Y 2




Options :

1. % Thd 3t
2. % YV g 91
3. ¢ HidIdd g%
4. % HigHG foralg

Question Number : 114 Question Id : 7532292546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was Annie Besant’s Home Rule League inaugurated?
Options :

1. % 1915

2.9 1916

3. % 1917

4. % 1918

Question Number : 114 Question Id : 7532292546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Sie §1 & & T IGUIe Ha gaiT Ul
Options :

1. % 1915

2.9 1916

3. % 1917

4. % 1918

Question Number : 115 Question Id : 7532292547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘Event — Year’ is NOT correct?

I. Simon Commission — 1931



II. Butler Commission — 1927
III. Muddiman Committee — 1924

Options :

1. % Only I
2. % Tand II
3. % Il and III
4. % Jand III

Question Number : 115 Question Id : 7532292547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e - I BT Ui o ¥ &9 1 37 el T8l 22

1. IISH HHIRHE — 1931
I1. §ee HHIRE — 1927
111, Je 9 Fiffd — 1924

Options :

1. v Had [
2. % 14U
3. % I dUTIII
4, % 14T

Question Number : 116 Question Id : 7532292548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Russian Social Democratic Labour Party was established in
Options :

1. # 1905

2. ¥ 1898

3. % 1891

4. % 1901



Question Number : 116 Question Id : 7532292548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S IR SHIdhCH TeR UTe! &l T8 T gl
Options :

1. #® 1905

2.9 1898

3. * 1891

4. % 1901

Question Number : 117 Question Id : 7532292549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Russian emperors were also known as
Options :

1. % Znast

2. ¥ Tsars

3. ® King

4. % Kral

Question Number : 117 Question Id : 7532292549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

pavsis el ) SR RSk KRS IS RS ISR
Options :

1. % SIRal

2. ¥ IR

3. # X1

4. ® DI

Question Number : 118 Question Id : 7532292550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

During Russian revolution, on 9 January 1905, a huge crowd of workers, led by a priest, Father Gapon, marched towards
Options :

1. # Spring Palace

2. % Summer Palace

3. % Autumn Palace

4. ¥ Winter Palace

Question Number : 118 Question Id : 7532292550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=4l wifd & SR, 9 SFERT 1905 BT, T UGS, WIER AU & g H 4fiw! &t Ui offs, B RN |
Options :

1. % BT Ui

2. % IR U

3. % 3ffcH Uay

4. ¢ fdex Uow

Question Number : 119 Question Id : 7532292551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The February Revolution of Russia resulted in

I. Strengthening of Autocracy
II. Formation of provisional government.

Options :

l. % Only I

2. ¢ Only II

3. # BothIand II
4. # Neither I nor II

Question Number : 119 Question Id : 7532292551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T &1 RaR] shifd & GRUMa= EEIRIL

L. Uhdd 26
I1. 3R TRPR BT T34
Options :

1. % PHadl
2. ¥ Had Il
3. % [qUT el
4. % 1B

Question Number : 120 Question Id : 7532292552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The important political tendency at the time of the 1917 Russian Revolution was

L. Populists and Socialist Revolutionaries.
II. Liberals and the Social Democrats

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 120 Question Id : 7532292552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1917 & =8 Hifd & JHI TR AG@YU! ASHITdd Ui |

1. SHaTe! aUT gHTSIaTe] shifdpRy
11. IERATe! aUT JrHISS Usiidaare]
Options :




1. % FHadl
2. % HAd I
3. ¢ [ QYT I gl
4. % 1B
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Group Number : 7
Group Id : 753229139
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 753229139
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
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Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7532292553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
thinkers demanded the abolition of class distinctions.
Options :
1. # Fascist
2. % Capitalist
3. % Distributismist
4. ¥ Socialist

Question Number : 121 Question Id : 7532292553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faaRe®] A T Yg B! YA B D1 {1 |
Options :
1. % BIRRC
2. % Yuitardt
3. % fqaRumaral
4. & JHTSETE!

Question Number : 122 Question Id : 7532292554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of ‘invisible hand” was introduced by
Options :

1. # Alfred Marshall

2. % Jeremy Bentham

3. * David Ricardo

4. ¥ Adam Smith

Question Number : 122 Question Id : 7532292554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 3rIps ARfd

2. % SR dYH

3. % 3fas Raref

4. ¢ TsH {1y

Question Number : 123 Question Id : 7532292555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1832, the word ‘socialism’ was first seen in print in a French periodical called
Options :

1. # Dio Franch

2. # Revo Le Garto

3. % Le Globe

4. % Dio Garto

Question Number : 123 Question Id : 7532292555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1832 ¥, “gHISIAIG’ eg Ui H Ugel IR AT gfAhT o T o |
Options :

1. % f$q g

2. % 41 d el

3. AT

4. % fearmet

Question Number : 124 Question Id : 7532292556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fascist believes in the ‘survival of the fittest’ theory and this was propounded by



Options :

1. # Alfred Wegener
2. ¥ Charles Darwin
3. % Antoine Lavoisier

4. ® Werner Heisenberg

Question Number : 124 Question Id : 7532292556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRIAG! Haigad 3 ¢ fhewe R A faymsrdgauag  gRiufauifed foam mar i
Options :

1. ® 3cIhS AR

2. ¢ a1l SifdA

3. % YT dalfi®R

4. % FR gIEoHTH

Question Number : 125 Question Id : 7532292557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct?

I. The Economic Crisis of 1929 played an important role in the emergence of Fascism in Italy.
II. Fascists denounced the Jewish community as inferior and characterized the Aryan race as a superior caste.

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 125 Question Id : 7532292557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % AT I

Question Number : 126 Question Id : 7532292558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
guaranteed to provide all possible aid to Poland in World War I1.
Options :
1. ¥ Britain and France
2. # Russia and Britain
3. ¥ USA and Japan
4. ¥ USA and Russia

Question Number : 126 Question Id : 7532292558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgcita foy g A UIcS Y TR GHT TeTd UG B BT AT |
Options :

1. ¢ f§e quT hiy

2. % =g dyl fgeq

3. % U dUr Sy

4, % JUIU Y=Y

Question Number : 127 Question Id : 7532292559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

He became Chancellor of Germany in 1933, but soon destroyed democracy and established his dictatorship. The given line is referring to which
of the following personalities?

Options :

1. ¥ Adolf Hitler

2. # Heinrich Himmler
3. # Reinhard Heydrich
4. # Adolf Eichmann

Question Number : 127 Question Id : 7532292559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1933 § 9 STHHT P TR o4, Al STeg 81 Aldbdal bl 7Y B T 3R 3o amrng! Riftd & ot & 178 ufda Rafefaa & 3 fg
kT &1 T P Tl 82

Options :

1. ¢ TSl fgeer
2. % gIRD fgHAeR
3. % YSIGTS gle®
4. % TSI 39U

Question Number : 128 Question Id : 7532292560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Brundtland Report of 1987 spoke about
Options :

1. # free trade

2. ¥ sustainable development

3. # unemployment

4. # gocial justice

Question Number : 128 Question Id : 7532292560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

1987 B! siccis RUIE A & IR T S|
Options :

1. * Had HMUR

2. ¢ gad fderd

3. % SRIGHIRY

4. % TS YT

Question Number : 129 Question Id : 7532292561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the context of World War I, which of the following statements is correct?

I. It started with the assassination of the Archduke Francis Ferdinand.
II. Germany was an allied Partner with France and Russia.
I11. Britain was an ally of Austria-Hungary.

Options :

1. # Iand III
2.% Only I
3. % Only I
4. % II and III

Question Number : 129 Question Id : 7532292561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % IdYUTIII

2.¥ Had I



3. % Had Il

4. % T dUT I

Question Number : 130 Question Id : 7532292562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are the goals of the United nations?

I. Develop friendly Bi-lateral relationships between nations.
II. Resolving international problems in one forum.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 130 Question Id : 7532292562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Y & AeT T 87

1. 181 & ita eyl fguaia ey fasRid o3|
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Options :

1. % Hadl
2. % HAd Il
3. QYT I gl
4. % qEIIATE I

Question Number : 131 Question Id : 7532292563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the shape of a lopolith rock?



Options :

1. # Fan shape

2. ¥ Bowl shape

3. % Mushroom shape
4. ¥ Dome shape

Question Number : 131 Question Id : 7532292563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AN TST BT 3MTBR T BNl 82
Options :

1. % UM BT DR

2. ¥ BRI DR

3. ® HIRSH DT PR

4. % T[qq BT ATHR

Question Number : 132 Question Id : 7532292564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The moon takes approximately how many days to move around the earth once?
Options :

1. ¥ 27

2. % 40

3. % 55

4, % 15

Question Number : 132 Question Id : 7532292564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TGHT D) ) BT Teb TGhR A H AT+ e o aval &2
Options :




1. ¥ 27
2. % 40
3. %55
4. % 15

Question Number : 133 Question Id : 7532292565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following volcano is NOT found in the Circum-Pacific belt?
Options :

1. # Mount Saint Helens

2. % Mount Pinatubo

3. % Mount Kilavea

4. ¥ Mount Visuvious

Question Number : 133 Question Id : 7532292565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & 9 & 91 SaaE! 96H-URIthe de J 78! Ul SiTdl 82
Options :

1. % H1dc U ga

2. % Orde fUArga

3. % Hdc fperiaar

4. ¢ \13e fagfaay

Question Number : 134 Question Id : 7532292566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘Discontinuities in earth’s interior — Zones of the earth’ is correct?

L. Repetti Discontinuity — Upper and lower mantle



II. Moho Discontinuity — Upper and lower crust
I11. Guttenberg Discontinuity — Outer and inner core

Options :

1. % Only I

2. % Tand II

3. % Only III
4. % I 1 and III

Question Number : 134 Question Id : 7532292566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ Had I

2. % [TUTI

3. % had Il

4, % 111 dYTIII

Question Number : 135 Question Id : 7532292567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The lines drawn on maps joining the places of equal temperature reduced to sea level are called
Options :

1. #* Isoplat

2. # Isotac

3. % Isotherms

4, % Tsotim



Question Number : 135 Question Id : 7532292567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AFRE IR 9S8 90 ¥ 99 d9EE arel I 61 B arelt i 15 3@ HEar gl
Options :

1. % 33HWIC

2. % 3TZHICH

3. ¢ 3TgAYH

4. % 3IHIEH

Question Number : 136 Question Id : 7532292568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Red sea records the highest salinity because of very high evaporation. It is located in which ocean?
Options :

1. % Pacific ocean

2. % Indian ocean

3. # Atlantic ocean

4. % Arctic ocean

Question Number : 136 Question Id : 7532292568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S8 31 aTefierRuT & BRUT el GG § Gad 3ifeh aurar gl ¢ | Te fbd AeranR # fRud 8
Options :

1. % U=Id AEEIR

2. ¢ fgq HENR

3. % 3{cdifcdh HENR

4. % 3THfcPH HERITR

Question Number : 137 Question Id : 7532292569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which pressure belt is located between 5 degree N and 5 degree S latitudes?
Options :

1. ® Polar high pressure belt

2. % Sub-tropical high pressure belt

3. # Sub-polar low pressure belt

4. ¥ Bquatorial low pressure belt

Question Number : 137 Question Id : 7532292569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR 3 9IR 5 e € araffeil 3 drg B 0 o Ut R B

Options :

1. % ¢dig I GaId deT
2. % JUIW I dRGETd Ut
3. % 3¢l ot fgere g
4. « fayada fgere ugt

Question Number : 138 Question Id : 7532292570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bering strait is the gateway between
Options :

1. # Arctic ocean and Atlantic ocean

2. # Indian ocean and Atlantic ocean

3. ¥ Pacific ocean and Arctic ocean

4. # Indian Ocean and Pacific ocean

Question Number : 138 Question Id : 7532292570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % b AR 3R 3fcdifed HERTR
2. % fgg TR 3R sfedifesd HERTR

3. ¢ Uid HEMIR 3R 3{Tdhfed He™TR

4. % f3E AR 3R URId AR

Question Number : 139 Question Id : 7532292571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The jet streams are characterised by which of the following properties?

L. Their circulation path is wavy.
II. They are found in the upper troposphere.

Options :

1. % Only 1

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 139 Question Id : 7532292571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v Wy Fafied 5 3 feg 1o S siftrafée gt 82
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Options :

1. % FHad |

2. % Had I

3. ¢ 1 UGl

4. % qEIIATR I




Question Number : 140 Question Id : 7532292572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a climograph, is plotted on X-axis whereas is plotted on Y-axis.
Options :

1. # rainfall, relative humidity

2. ¥ relative humidity, wet bulb temperature

3. # rainfall, wet bulb temperature

4. % wet bulb temperature, relative humidity

Question Number : 140 Question Id : 7532292572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FARHIUTG |, B X-3{&] TR Wiic o Sl & Safds DI Y-31& R Wic foal ST g
Options :

1. % guf, qrofres Sk

2. ¢ ATUIE TSI, TS Ted ATIHT

3. % g, 3T ed JTUHM

4. % 35 Sod AU, WUTE® Sl
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Discipline3

Section Id : 753229140
Section Number : 1

Section type : Online
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 7532292573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suppose 100 units of solar radiation enters the earth’s atmosphere. Based on this information, which of the following statements is absolutely
correct?

I. Radiation lost to space through scattering will be higher than reflection by the clouds.
II. Approximately 20 units of radiation will be received by the earth’s surface.

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 141 Question Id : 7532292573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. % [ UGl

4. TRIIATRII

Question Number : 142 Question Id : 7532292574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factors affect the ocean currents?

I. Wind stress
II. Pressure gradient

II1. Coastal topography and bottom reliefs
IV. Salinity

Options :

1. ® Tand II

2. % I, II and IV

3. % Only III

4, ¢ I, 11, Il and IV

Question Number : 142 Question Id : 7532292574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 14Ul
2. % LINTUT IV

3. % Had III

4. 1 11, HI dIT IV

Question Number : 143 Question Id : 7532292575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which lake has been formed due to the silting action of the Mahanadi river?
Options :

1. % Pushkar lake

2. % Chillika lake

3. # Dal lake

4. % Kaliveli lake

Question Number : 143 Question Id : 7532292575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % qsh i

2. ¢ Tt it

3. % sAdld

4. % Broilddl e

Question Number : 144 Question Id : 7532292576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following forests, Sundarban delta is found?
Options :



1. # Dry deciduous forest
2. # Himalayan moist forest
3. % Alpine forest

4. ¥ Mangrove forest

Question Number : 144 Question Id : 7532292576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & 3 fod a9 & Jerar Seel urdn o 82
Options :

1. % P qufaredt o

2. % g TH o=

3. % 3{cUlgddd

4. % YgldgR d-

Question Number : 145 Question Id : 7532292577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The river Tapi rises from the

Options :

1. ¥ Satpura hills

2. # Maikal hills

3. # Ananthagiri hills

4. % Vindhya hills

Question Number : 145 Question Id : 7532292577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ardt = I Apad gl

Options :

1. ¢ gdgeI g



2. % AoTd e
3. % AR e
4. % fdgfg

Question Number : 146 Question Id : 7532292578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the youngest series of the Lower Gondwana System?
Options :

1. % Papaghani series

2. # Talcher series

3. % Damuda series

4. ¥ Panchet series

Question Number : 146 Question Id : 7532292578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % oYt e

2. % dIeTeR g9l

3. % Gral gl

4. ¢ UT gRael

Question Number : 147 Question Id : 7532292579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of ‘River — Tributary’ is correct?

I. Indus — Jhelum
II. Yamuna — Gomti
III. Krishna — Penganga



Options :

1. % Only I

2. # Il and III
3. % Tand II

4. # I, 1I and III

Question Number : 147 Question Id : 7532292579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- geTae I BT Fafifad & 3 o a1 3w I8t 32

1. Ry - gam
L. TYAT — T
I11. 8O — Ui
Options :

1. ¥ Had 1

2. % 1 AUTII
3. % 1dUTI

4, % 111 dYTIII

Question Number : 148 Question Id : 7532292580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Natural growth of the population is expressed as
Options :

1. # Life expectancy rate — Birth rate

2. ¥ Birth rate — Death rate

3. # Birth rate — Migration

4. % Migration — death rate

Question Number : 148 Question Id : 7532292580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SRS P M Tad gl I & &0 U o fhar A gl
Options :

1. % 3fNd oMY &R - T &

2.V TR -TI R

3. ® OH @ -UdgA

4, % Yqd -HJ &}

Question Number : 149 Question Id : 7532292581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Post which year, India reached to the second stage of the demographic transition?
Options :

1. * 1950

2. % 1915

3. %1920

4. % 1935

Question Number : 149 Question Id : 7532292581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o a8 & TG YR SRR I hHUT & gax TRUT H Ugd M
Options :

1. % 1950

2. % 1915

3.9 1920

4. % 1935

Question Number : 150 Question Id : 7532292582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the India’s National Programme for Family Planning?



I. India was the first country in the world to have launched such a programme.
II. This programme was launched in 1952.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 150 Question Id : 7532292582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd & IP1Y YRR (Ao Brishd & ey # Fafemad 3 4 1 a1y 981 8

I. YR Y A6 1 HRIHH & DR aTdl gf-1aT1 BT Ugadl o 4T
I1. T8 HTUHH 1952 H Y& fobar1 77 T

Options :

1. % Had |

2. % Had II

3. ¢ 1 3R 11 g

4. % A RAG I

Question Number : 151 Question Id : 7532292583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For a fertiliser industry, the basic raw materials are

I. Sulphur
II. Rock phosphate

Options :

1. % Only I

2. % Only II

3. % Both I and II



4. ® Neither I nor II

Question Number : 151 Question Id : 7532292583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP IR I & o, g o= Ara gl

I. Heh

I1. [P Hiwhe
Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qEIIATRIII

Question Number : 152 Question Id : 7532292584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which states are collectively known as the ‘Cotton basket of India’?
Options :

1. ¥ Madhya Pradesh, Gujarat, Andhra Pradesh and Bihar

2. #® Mabharashtra, Odisha, Andhra Pradesh and Rajasthan

3. % Maharashtra, Gujarat, Andhra Pradesh and Telangana

4. ® Madhya Pradesh, Karnataka, Uttar Pradesh and Bihar

Question Number : 152 Question Id : 7532292584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 IToAT 1 AMHfE P U ¥ 'YRA BT HUN B IRl b U | ST o1l 57
Options :

1. ® O UG, ToRId, 318 U= a1 fagR
2. % HBRIY, SIS, gy UG T ISR




3. ¥ UBRIY, TTORId, 318 TSI T deiTT
4, % AYYSY , Hlcdh, IR U YT fogR

Question Number : 153 Question Id : 7532292585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country is the largest producer of maize in 2019?
Options :

1. # China

2. % United States of America

3. # Indonesia

4. ¥ Mexico

Question Number : 153 Question Id : 7532292585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2019 H AhT BT FaY 981 SATGH S DI I1 82
Options :

1. % 9

2. « TG oY SHRBT

3. % SSHRME

4. % AfFgHI

Question Number : 154 Question Id : 7532292586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a plantation crop?

I. Coconut
II. Rubber
III. Tea

Options :



1. # Iand II

2. % Tand III

3. % Il and III
4. 1,11 and 111

Question Number : 154 Question Id : 7532292586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed & ¥ o I Ue AU Bad 82

GRS
11, IR
II1. <1

Options :

1% IdUT

2. % 1dYUT I
3. % [IdYUTII
4. 1 11 dYT I

Question Number : 155 Question Id : 7532292587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following geographical conditions is required for the cultivation of wheat?

I. Bright sunshine is required at the time of ripening.
II. Heavy soil with good drainage is suitable for wheat cultivation under dry conditions.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II



Question Number : 155 Question Id : 7532292587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

399 Y B I Hiniiferes uRfRUfaaT Tig ot Wil & fog srazas 82

1. U+ & AT Qe §U P gl sl gl

1. I gRRUfl § 78 & forg st wiet et arelt 4t Har Suged gt 1
Options :

1. % $Had 1

2. % Had Il

3. [ QYT I gl

4. % I I

Question Number : 156 Question Id : 7532292588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country has the largest postal network in the world?
Options :

1. ¥ India

2. # Indonesia

3. * France

4. % China

Question Number : 156 Question Id : 7532292588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3y o1 T 9871 ST Acad fFg S H B2
Options :

1. ¥ Sf&an

2. % SSHRME

3. % Big

4. % 4




Question Number : 157 Question Id : 7532292589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the sides of the Golden Quadrilateral Corridor?
Options :

1. # Delhi-Mumbai

2. # Kolkata-Chennai

3. ¥ Srinagar-Kolkata

4. ¥ Mumbai-Chennai

Question Number : 157 Question Id : 7532292589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed § 3 o w@itie gy TR &t T Yo 8 &2
Options :

1. % fcell-gas

2. % DIADIA-AAS

3. ¢ JITR-BIADI

4, % Ha3-dds

Question Number : 158 Question Id : 7532292590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The direction of landslides down the slope can be

I. Vertical
II. Lateral

Options :

1. % Only I

2. % Only II

3. % Both I and I



4. % Neither [ nor 11

Question Number : 158 Question Id : 7532292590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A o e YTEa Pi fa=m BEEGIE

1. $ealeR
1. urffes

Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATRIII

Question Number : 159 Question Id : 7532292591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a long duration hazard?
Options :

1. % Avalanche

2. ¥ Drought

3. # Landslide

4. # Tornado

Question Number : 159 Question Id : 7532292591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fofafed & 3 &F 91 Ue ddl Safd 1 @l 62
Options :

1. % 3{dYTd

2.9 Ul



=
4, % TRAS!

Question Number : 160 Question Id : 7532292592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On the basis of historical seismicity and strong ground motions, India is divided into damage risk zones.
Options :

1. ¥ Four

2. % Six

3. * Two

4. % Three

Question Number : 160 Question Id : 7532292592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT YohUiadT SiR AeTgd ST Tl & SMYR IR, HRA &1 &fa Sy & & faword fasar man g
Options :

1. ¥ dR

2. % S5

3. % Q)

4. % dH
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Question Number : 161 Question Id : 7532292593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the major factors responsible for producing tsunami?
Options :

1. # Undersea massive landslides caused by sudden tectonic movements.

2. % Explosive volcanic eruptions in the sea floor.

3. # Collision of convergent destructive plates.

4. ¥ Massive cloud burst in a region.

Question Number : 161 Question Id : 7532292593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed # I &9 A SUd a4 & 7T STRer U HRE| J 9 U@ 6l 82




Options :

1. % 3 fagdHe Mg & SR TS & -1 s THH TR YR |
2. % g dd § fqepicd sarargd! fawmie|

3. % JHUERU fIRIGRY Wil &1 chvra|

4. ¥ T &7 H §Tqel b1 SR d Bl

Question Number : 162 Question Id : 7532292594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following factors contribute to enhancing the ‘net production’ of food grains?

I. Method of cultivation
I1. Storage of food grains

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 162 Question Id : 7532292594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR & I DI 91 SRS WE & Y& SUTGT DI 96 J AGH adl g 2

1. Wl 1 fafg
I1. Tl T HSIRUT
Options :

1. % Had 1
2. % Had Il
3. ¢ 1 UGl
4. % qEIIATE I




Question Number : 163 Question Id : 7532292595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a non-economic factor influencing economic development?

I. Governance
II. Soil and Terrain

Options :

1. ¥ Only I

2. % Only II

3. %* BothIand II
4. # Neither I nor II

Question Number : 163 Question Id : 7532292595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad 3 9 & enfife fgerg &1 yHIfad B aTel Te TR- 3Mfie R g2

1. AR

I1. &7 3R YHTT
Options :

1. Had |

2. % Had II

3. % [ QYT
4. % qEIIATR I

Question Number : 164 Question Id : 7532292596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At the time of Independence, Indian Economy was

I. underdeveloped
II. independent economy

Options :



1. ¥ Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II

Question Number : 164 Question Id : 7532292596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WaAdl & U, HRAIT rfawy ot

1. 3rfapfRyd
11, Wa7 rduar

Options :

1. ¥ FHad |

2. % Had Il

3. % [ UGl
4. % qGIIATRIII

Question Number : 165 Question Id : 7532292597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct regarding the economic growth?
Options :

1. # Economic growth is single dimensional.

2. % Economic growth is both quantitative and qualitative.

3. % Economic growth refers to a rise in national or per capita income.

4. # It provides solution to the problems of developed countries.

Question Number : 165 Question Id : 7532292597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3o faepra & oo & Fafaf@d A A P T HuT Tt eI R 2



Options :

1. % 3w fomr Tha ST BIaT | |

2. ¢ 3 faemTd AETES 3R UTe® GHI | |

3. % 3Nfep faTar 1 areqd PNy a1 ufd AT ST A GG A |
4. % gg fopfyd I &t qrerafl &1 qH1 UeH SRl g |

Question Number : 166 Question Id : 7532292598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following characteristics of organised sector is correct?

I. Terms of employment are regular
II. Not registered by the government

Options :

1. % Only I

2. % Only II

3. # Both I and II
4. ® Neither I nor II

Question Number : 166 Question Id : 7532292598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S &7 o1 FafeRad § Q SI--4 faRvar 98t 82
1. SR &1 A Fafid §

1. TRDR gRT Usiidhd g1
Options :

1. Had I
2. % Had Il
3. % [ UGl
4. % qEIIATE I




Question Number : 167 Question Id : 7532292599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The fixed interest rate at which the Reserve Bank of India absorbs liquidity, on an overnight basis from banks is called
Options :

1. # Exchange rate

2. ¥ Reverse repo rate

3. % Bank rate

4. % Repo rate

Question Number : 167 Question Id : 7532292599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a8 RufRd sare o o/ IR YR Roid S 3RS e 3MYR W Idf &) afdexaigdg Peadrgl
Options :

1. % o R

2. ¢ REdTq R

3.2 PR

4. % AR

Question Number : 168 Question Id : 7532292600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the quantitative technique of credit control?

I. Bank rate
II. Open market operations

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor II



Question Number : 168 Question Id : 7532292600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoffad & @ o 91 $hige a7 &) AErdEs dels 82
[ 9%
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Options :

1. % Had 1
2. % Had Il
3. [ QYT ISl
4. % GBI

Question Number : 169 Question Id : 7532292601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following monetary aggregates captures the complete balance sheet of the banking sector?
Options :

1. ¥ M3

2. % Ml

3. % M2

4. % M4

Question Number : 169 Question Id : 7532292601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofifea 7 3 o 1 Dfee =y §f6T &7 3 Iof o e @ exifdar g2
Options :

1. ¥ M3

2. % Ml

3. % M2



4. % M4

Question Number : 170 Question Id : 7532292602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is correct regarding the commercial paper?

L. It is an unsecured money market instrument issued in the form of a promissory note.
II. It was introduced in India in 1990.
III. They are issued by the Reserve Bank of India.

Options :

1.9 TandII

2. % Only III

3. % Only I

4. % I, Il and III

Question Number : 170 Question Id : 7532292602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gifvifode 3 & deH H Fufafad 7 @ o 91 $yF I8t 82

1. T8 Teh aa- U o =0 & W} b 7 U SRR Tt SToiR a1 21
I1. 39 HRA H 1990 H U foar a1 o

111. d 4R RoTd § gRT SR} fT o ||

Options :

1.« 13auT1I

2. % Had I

3. % $had |

4. % 111 TUTIII

Question Number : 171 Question Id : 7532292603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



has the power to withhold assent to a bill in state legislature and reserve it for the President’s assent.
Options :
1. % Speaker of the house of people
2. # Chairman of the council of states
3. ¥ Governor
4. # Prime Minister

Question Number : 171 Question Id : 7532292603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U I fayrHed & fhdl fadhe 1R geHfd Ad SR PUfd & faaR & o SiRféd wam &1 e gt 3 |
Options :

1. % AIBIHT S e

2. % ICHHT & JHTURA

3. ¢ YUTd

4. % GYHAT

Question Number : 172 Question Id : 7532292604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of Indian constitution is related to the adjudication of disputes relating to waters of inter-state rivers or river valleys?
Options :

1. % Article 260

2. % Article 262

3. % Article 261

4. % Article 259

Question Number : 172 Question Id : 7532292604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRTT T &1 S AT 3fwdg SiaRifoass Afedl a1 9dl-gAi & o Teieft faaret &1 -amafofas ¥ defia 72

Options :



1. % 396 260
2. ¥ 3G 262
3. % 3w 261
4. % 3G 259

Question Number : 173 Question Id : 7532292605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following year, was the Sarkaria Commission for centre-state relations appointed by the central government?
Options :

1. % 1983

2. % 1999

3. % 1977

4. % 1974

Question Number : 173 Question Id : 7532292605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRed o O fd av & &g RHR gRI &30 Jaell o fer TRBINAT SNT fAgad fobam mam m
Options :

1. ¥ 1983

2. % 1999

3. % 1977

4. % 1974

Question Number : 174 Question Id : 7532292606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT correct regarding division of powers in India?

I. The Indian constitution lays down an elaborate division of legislative powers between the union and the state government in the seventh



schedule.
II. There are two lists in seventh schedule of Indian constitution.

Options :

1. % Only I

2.9 Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 174 Question Id : 7532292606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffad & 9 &9 91§ YRd § el & faureH & ded ¥ g8t e 22
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Options :

1. % dhad |

2. ¢ Had Il

3. % [ QYT

4. % A IAE I

Question Number : 175 Question Id : 7532292607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parties was established by Mamta Banerjee?
Options :

1. % All India Forward Bloc

2. % Amra Bangalee

3. ¥ All India Trinamool Congress

4. % Akhil Bharatiya Gorkha League

Question Number : 175 Question Id : 7532292607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fofefad & 3 f5g a ot RITTH AHdT S91f gRT Bt 1t o
Options :

1. % 3 3fear BRaS sdld

2. % ITHRT TG

3. ¢ 3{RId YRA JUIHA ST

4. % 3RIT YR TMR@T AT

Question Number : 176 Question Id : 7532292608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following political leaders is associated with Bahujan Samaj Party?
Options :

1. ¥ Mayawati

2. % Uma Bharti

3. ® Sonia Gandhi

4. ¥ Supriya Shrinate

Question Number : 176 Question Id : 7532292608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiad & § ®F 91 ISHiaed dT dgoi ST Tl § I3 8 2
Options :

1. ¢ AR

2. % JHT HR!

3. % i e

4. % giogr 4ird

Question Number : 177 Question Id : 7532292609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The 61st Amendment Act, 1989 of Indian constitution is associated with which of the following provisions?
Options :

1. # Minimum voting age increased to 21 years

2. # Maximum voting age prescribed to be 61 years

3. # Maximum voting age increasing to 65 years

4. ¥ Minimum voting age reduced to 18 years

Question Number : 177 Question Id : 7532292609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR WAL &1 6191 IxNeH iFEH, 1989 fafaRad & ¥ f6w Urau™ ¥ deftd 82
Options :

1. % AGM &I TAdH 3T FGIHR 21 T8 B T8

2. % HdgH & SHaH 3 61 a9 Ui & T

3. % YoM B ARYbdH 31 65 99 I TS TS

4. ¥ TG B AdH 3T geTHhR 18 TY Bl T

Question Number : 178 Question Id : 7532292610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of article — constituents is correct regarding constitution of India?

I. 327 — Power of Parliament to make provision with respect to election of legislatures.
II. 329 — Ban to interference by courts in electoral matters.

Options :

1. % Only1

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 178 Question Id : 7532292610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl

4. % 1B

Question Number : 179 Question Id : 7532292611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following parties was NOT a part of the group of parties that formed Janata Party in 19777
Options :

1. * Congress for Democracy

2. # Bharatiya Jana Sangh

3. ¥ Swatantra Party

4. ¥ Janata Dal

Question Number : 179 Question Id : 7532292611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead & @ o9 T aret 1977 § SHar urel g9 are oifiéal & Iqg &1 fewn et o
Options :

1. % Slibdd & fod HiUg

2. % YRAY o 99

3. % a7 uref

4, ¢ SAdl




Question Number : 180 Question Id : 7532292612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement is correct regarding the representative democracy?

I. It is an indirect form of democracy.
II. Presidential democracy is a type of representative democracy
II1. There are more presidential democracies around the world than parliamentary democracies.

Options :

l.¥ Tand I

2. % Iland III
3. % land III

4. % I, 1l and III

Question Number : 180 Question Id : 7532292612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 181 Question Id : 7532292613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states in India does NOT have Panchayati Raj system?
Options :

1. * Arunachal Pradesh

2. % Sikkim

3. ® Manipur

4. ¥ Nagaland

Question Number : 181 Question Id : 7532292613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafed § ¥ YRa & fora Ieg & v I ol 781 82
Options :

1. % IRBUMTS UG

2. % ffemH

3. % OUQR

4. ¢ TAS

Question Number : 182 Question Id : 7532292614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following years, democracy was introduced in the post-independent India?
Options :

1. % 1950

2. % 1958

3. % 1948

4. % 1951

Question Number : 182 Question Id : 7532292614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ 1950

2. % 1958

3. % 1948

4. % 1951

Question Number : 183 Question Id : 7532292615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following was the aftermath of the civil war in Britain in the 17th century?
Options :

1. # Slavery was abolished

2. ¥ Royal absolutism ended

3. % Capitalistic society was created

4. % Women got voting rights

Question Number : 183 Question Id : 7532292615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRed & § &4 1741 Tarec # foreH & 8gg &1 uRum um
Options :

1. ® T[CTH B THT B [T 77T T

2. ¢ T FARea AT 81 TS

3. % YoitaTe! A BT AT gaf

4. % TGS b1 T HAGH T TDPR

Question Number : 184 Question Id : 7532292616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The panchayat system in Nepal was established by
Options :

1. ® King Tribhuvan

2. ¥ King Mahendra

3. # King Gyanendra

4. # King Birendra

Question Number : 184 Question Id : 7532292616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % ST YT
2. ¥ ST UGS

3. % AT IS

4. % o IS

Question Number : 185 Question Id : 7532292617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements regarding the rise of Maoists in Nepal is correct?

I. ‘Peoples Movement’ was launched by them in 1986.
II. The Maoists had not set up ‘people’s government’ in any districts of Nepal until 2000.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 185 Question Id : 7532292617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4. TBIIATR I




Question Number : 186 Question Id : 7532292618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The constitution of India came into force on
Options :

1. # 25 November, 1950

2. % 26 November, 1949

3. ¥ 26 January, 1950

4. % 15 August, 1950

Question Number : 186 Question Id : 7532292618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR BT Hiqu™ TR AR g3 AT
Options :

1. % 259dsR 1950

2. % 26 AR, 1949

3. ¢ 26 SR, 1950

4. % 15 3R, 1950

Question Number : 187 Question Id : 7532292619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following articles does NOT come under the Right to Equality of Indian constitution?
Options :

1. # Article 17

2. ® Article 15

3. ¥ Article 13

4. % Article 18

Question Number : 187 Question Id : 7532292619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YR AU & THdT & ISR & Sdid FEfiRad T & S AT 36 o AT 62
Options :

1. % 3fJw™q 17

2. % 3JHG 15

3. ¥ TG 13

4. % TG 18

Question Number : 188 Question Id : 7532292620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which constitutional amendment act added fundamental duties in the Indian constitution?
Options :

1. ¥ 42nd

2. % 32nd

3. % 74th

4. % 47th

Question Number : 188 Question Id : 7532292620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ 424i

2. % 324(

3. % 744

4. % 4791

Question Number : 189 Question Id : 7532292621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which schedule of the Indian constitution provides the provisions as to disqualification on ground of defection?
Options :

1. ¥ Second

2. ¥ Tenth

3. # Fourth

4. % Eleventh

Question Number : 189 Question Id : 7532292621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® GO

2. ¥ agd!

3. % 9rft

4. % TRgdl

Question Number : 190 Question Id : 7532292622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT correct regarding the fundamental rights in the Indian constitution?
Options :

1. # Right to property is not a fundamental right.

2. # These rights are justiciable.

3. % They are completely absolute.

4. # Cultural and educational rights are fundamental rights.

Question Number : 190 Question Id : 7532292622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 191 Question Id : 7532292623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following suggestions cannot help you make teaching-learning process participatory in social science?
Options :

1. # Teach students how to cooperate with each other

2. % Link the school to the community at large

3. ¥ Create a classroom that excludes group workspaces where resources are shared

4. ® Arrange debate/discussions on emerging social issues such as dowry, population growth etc

Question Number : 191 Question Id : 7532292623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 192 Question Id : 7532292624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 192 Question Id : 7532292624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To make social science interesting, teacher uses several resources which act as tools for learning. ‘Map’ is one of the essential tools. Which of the
following is NOT an element of the Map?

I. Direction Indicator
II. Scale of a Map
II1. Title of the Map

Options :

1. % I, Il and I1I

2. % Only II

3. % Only III

4. ¥ Neither I nor II nor III

Question Number : 193 Question Id : 7532292625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the quantitative methods of Evaluation?

I. Psychometric Tests
II. Experiments

III. Case studies

IV. Interviews

Options :

1. # Iand IV

2. % Il and III

3. % [ Iland IV
4. ¥ land II

Question Number : 193 Question Id : 7532292625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 194 Question Id : 7532292626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Learning can be considered as

L. the relatively permanent modification of behaviour
II. the relatively permanent change in personality

Options :

l. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 194 Question Id : 7532292626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 195 Question Id : 7532292627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are the types of dances.

I. Folk dance
II. Creative dance
III. Classical dance

Options :

1. 1, I and III
2. % Tand III

3. % Il and III
4. % Jand I

Question Number : 195 Question Id : 7532292627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % [IdYUTII
4. % 1dYUTII



Question Number : 196 Question Id : 7532292628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the guideline to enhance questioning skills among children in classroom?
Options :

1. # Develop sensitive listening techniques

2. % Appreciate questions that are appropriate to the development level

3. ¥ Never respond in an encouraging way

4. ® Do not stop the discussion with the right answer

Question Number : 196 Question Id : 7532292628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 197 Question Id : 7532292629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“The needs of children with special needs will vary from child to child depending on the disability he/she has.” With respect to this given
statement, which of the following statement is correct?

I. A child with mental retardation will not need concrete material but will need repeated instructions to understand a concept.
II. A child with motor disabilities will need physical support depending on the need.

Options :
1. % Only 1
2.% Only II



3. % Bothland II
4. % Neither I nor 11

Question Number : 197 Question Id : 7532292629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had 1
2. ¥ Had Il
3. % [ QYT gHl
4. % GBI

Question Number : 198 Question Id : 7532292630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Gender discrimination begins from the family and extends to various places. Which of the following are those places?

L. Police stations
II. Appointment to Jobs
III. Work place

Options :

1. # Il and III
2.% 1,1l and III
3. % Only II

4. % Tand III

Question Number : 198 Question Id : 7532292630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 199 Question Id : 7532292631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are the Literary devices?

I. Metaphor
II. Irony
[II. Rhyme

Options :

1. * Il and III
2.9 1, 1l and III
3. % land III

4. % Only II

Question Number : 199 Question Id : 7532292631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® I dYUTIII
2.9 1 11 dYT I

3. % 1 YT
4. % Had I

Question Number : 200 Question Id : 7532292632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which factor affects the Inclusive Education?

I. Evaluation system
II. Preparedness of Teacher
III. Diversity among the learners

Options :

1. % I, II and III
2. % Only II

3. % Il and III
4. % Jand II

Question Number : 200 Question Id : 7532292632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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